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8 — O + x4+ 4% — 4y

Tx+ 9 — 2x— 4(x2 + 2x3)

405 — 2°) + 9% — dx + 6x

X+ 40 +4(6x" — 6x°) — 4x”

7 — 5 4 5¢° — 3x— 2x°

3x+ 5x+3x° + 200 — 82

4(6x3 - 6x2) — O + Tx* — Ox

2% + Tx + 9% — 4(x — 6x7)

2x— 8% —x— 4(6x2 + 7x3)

Sx+ 8¢ + 7% + 3(6x2 + 4x2)
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8¢ — O + x + dx? — 4x
—° + 4% — 3x

Tx+ 9% — 20— 407 + 2x°)
¥ — 4 + 5x

420 — 2°) + 9% — 4x + 6x
¥+ 8¢ +2x

x+ 4+ 4(6x° — 6x°) — 4x?
—20x° + 20x° + x

7 — 56 + 5¢% — 3x — 2x°
5x2 — 3x

3x + Sx+ 3x% + 20 — 8x2
20 — 5% + 8x

H6x° — 6x°) — 9% + Tx — 9x
155° — 172 — 9%

2%+ Tx+9x° — 4(x — 6x2)
O + 267 + 3x

2x — 8x% —x— 4(6x% + 7x°)
—28x — 32 +x

5x+ 82 + 7x° + 3(6x° + 4x?)
70 + 38 + 5x
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